EEEMZ2REZFOERREL (nZLE) ROFEH

[ 3250 (T%) |

EEISEE 19,536,000 M = *9.7/10 = (A) 18,949,920 H
HBRER 2,147,000 M = *9.0/10 = (B) 1,932,300 H
RiGEEE 7,012,000 B = %9.0/10 = (C) 6,310,800 H
—REHE 5,232,000 B = *7.5/10 = (D) 3,924,000 H
—fEEt £ 1,522,000 H = *9.2/10 = (E) 1,400,240 M
35,449,000 M 2 (A~E) =(K)_32, 517,260 M
TE{Mis 35, 440, 000 H
HEWRMBEAE 3,544,000 H
XETEE=TF E (@t 38, 984 000 M
CNFET
K |t EN LD EIE 32,517, 260
® |REFIRMEEHER
©® | =K RS Kx1. 10 _(D3F9YET) 35, 168, 986
@ |RIEHIBRE#ED100/110|®=*100/110 (H4UTLH) 32, 517, 260
KRB I PR AE A F EMA&DT. 5~9. 2/10DHENICH S C & DFERR
(FEfMHEDT. 5/10) (FEMFEDI. 2/10)
29, 238, 000 = 35,768,986 = 39, 865, 280

XPEMBAE (RRBANERERE 2 5H%X) (CEEHT S REFHRMAE

DEE

®-FEME = 0.91752 = | 91.75 %]

(FHEXBEDEIT) &

K |t EN LD EIE 32, 517, 260
©® |EHRMBERLE |Kx1.10 GHONZE)

FHEER (DEUTTYET) 35, 768, 986
© | s {5 il BR iffi 4% BzEFAEXBDLIF) 35, 769, 000
@ |RIEHIBREH&D100/110|®@+*100/110_(SHUTHLH) 32, 5117, 273

XDIE, ®ITEYIHHNEL-EBZDEICII0LDINEFE L THEE (D
LTYLEIF) THAZEIZBET R L,
MEREHIBEENTEMEDNT.5~9. 2/100EFERNICH 2 Z & DFER

(FEMIEDT.5/10) (FEMIEDI. 2/10)
29, 238, 000 = 35,769,000 = 35, 866, 000
KT EMEHE (RPRATRRERE 2 5H%X) [CEEHT 5 X HI R
DEE

®-FEME = 0.91753 =| 91 9%|
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| BEHIQ (REFFE) |

At
E i 5,670,000 H = *80% =(A)4,536,000MH
HEBMBELEE 967,000 M

RETEE =P E M1 6,237,000 M

(A) [ EHBMEE BRikRE) XER 4,536, 000
IEHRMEELER
(B) | =BAEFIRMEIE (A)*1. 10 _(DHUTHYED) 4, 989, 600
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DEE
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¥ 5 IEE 5,670,000 M
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REtEE=TF EME 6,237,000 F (A
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(A) = |:|+8, 844, 000
R HIPR M8 F H#E R | (A-1) R E+0. 82 H=E 3,409,560
(A—Z) an-l'*O 8 Eﬁg 3, 748, 800
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